NZB Beginner Module 7 —

Board 1 4 95
North Deals v 107652
None Vul ¢ AQ76
& K10
4« AQJ84 N 76
vy AK3 W E vy QJ
¢ 54 = ¢ J932
& 742 & AQ865
&4 K1032
vy 984
¢ K108
& JO3
E 3N; EW 34 ; EW 4%; W 2N; EW 2v; EW 1¢;
Par -400: E 3N=
West North East South
Pass Pass Pass
le Pass 2% Pass
24 All pass

With a 5-card Major suit, West opens and rebids 2 4 - their suit
at the lowest level to show a minimum hand with 5 + & s,

Opening lead: v 2

Declarer wins the lead in dummy to lead a # to their AQJ84 to
finesse the & K.

Next try the finesse of the # K leading to the # Q in dummy to get
the lead across to repeat the # finesse. Makes 9 tricks.

Board 2 4 QJ932
East Deals v?2
N-S Vul ¢ K653
& 983
& 106 N o K874
vy 964 W E vy A3
¢ QJ1074 = ¢+ 98
& A106 & J7542
& A5
vyKQJ10875
¢ A2
& KQ

NS 5v; NS 34; NS 2N; NS 1¢ ; EW 1;
Par +650: NS 4v +1

West North East South

Pass lv
Pass 1e Pass 4v
All pass

With 6 HCP North responds to the opening with 1.
After this response, South knows they have enough for game
and rebids 4 v with their single-suited hand.

Lead: ¢ Q, top of sequence.
Declarer wins the lead with ¢ A in hand to preserve dummy's

only entry ¢ K. Draw trumps, but when in dummy with ¢ K use
the opportunity to lead # Q to finesse # K for an overtrick.

Opener Unbalanced Hands

Board 3
South Deals
E-W Vul

4 Q62
vy A9762
¢ 86

& 963

N
W E
S

4 85
vQJ105
¢+ A54
*10854

& 103
v 843
¢ KJ1092
& AQ7

o AKJO974
v K

¢+ Q73

& KJI2

EW 54 EW 5¢ ; EW 1IN; EW 2&; NS 1v;
Par —-650: EW 44 +1

West North East South

Pass
Pass Pass 1e Pass
24 Pass 34 Pass
44 All pass

East rebids a jump 3 4 to show a 16-17 hand with a 6-card suit.

West now knows there is a # fit and enough for game, so they
bid 4+

Lead: ¥ Q - top of sequence

North knows from partner's ¥ Q lead that Declarer has ¥ K, so
they play their ¥ A and drop the singleton v K.

When Declarer gains the lead they cross to dummy with a # to
try the trump finesse of # Q, which works - makes 11 tricks.

Board 4 &6
West Deals v AQ1083
Both Vul ¢ AQJ2
& 543
e A942 N 4« QJi108
vy K62 W E v 754
¢ 975 = ¢ 10863
& KJ9 & AQ
o K753
vJ9
¢ K4
& 108762
NS 3v; NS 2&: NS 1¢ ; Par +140: NS 1v +2
West North East South
Pass lv Pass le
Pass 24 Pass 2v
All pass

North opens their longest suit then rebids their 2nd suit 2 ¢ . This
is OK on their minimum hand - as it's below the barrier (2 ¥).
South has a minimum response and doesn't strongly prefer ¢ s,
so they sign offin2 v,

Lead: ¢« Q

Declarer crosses to dummy with ¢ K to draw trumps leading v J
& running it to finesse the v K. Makes 9 tricks.
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NZB Beginner Module 7 — Opener Unbalanced Hands

Board 5 4 KQ6
North Deals vy KQ53
N-S Vul ¢ AKJ82
*9
48752 N a4
v A7 W E v 9842
¢ 1053 = ¢ Q76
& AK83 &#QJ754
4 AJ1093
vJ106
¢ 94
% 1062

NS 54;: NS 3v; NS 4¢ ; NS IN; EW 2&;
Par +650: NS 56 =

West North East South

1¢ Pass 1e
Pass 2v Pass 24
Pass 4e All pass

As North has a stronger hand they can rebid their 2nd suit above
the barrier with 2 v . South is forced to bid again so they rebid
their 5-card # suit, which is raised to 4 4 by Opener - now that
they know there is a suit fitin ¢ s.

West leads: « A

Declarer should postpone drawing trumps to establish winners
&/or eliminate their # losers before dummy's trumps are used up.

Board 6 s 102
East Deals vy A1072
E-W Vul ¢ AJ104
Q72
& )543 N & AK86
vy K865 W E v Q9
¢ Q98 = ¢ 53
& J5 & A9643
4 Q97
vJ43
¢ K762
& K108
NS 2N; EW 24 NS 2v; NS 3¢ ; Par +120: NS 2N=
West North East South
1 Pass
lv Pass 1e Pass
24 All pass

East opens their longest suit 1 # and rebids their 2nd suit at the
1-level with 1 4. West has a # fit and a minimum hand so they
raise to 2 & - the final contract.

Lead: ¢ 2

From the lead North knows South has ¢ K, so they can win the
trick cheaply with ¢ 10. Once Declarer gets the lead, they play 2
rounds of trumps, then the side suits - makes 8 tricks.
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Board 7 4 Q9
South Deals vy Q93
Both Vul ¢ KQ103
% 10654
4 AK862 N 43
v K842 W E vyAJ76
¢ 85 = ¢ J742
& KJ & AQ98
4 J10754
v 105
¢ A96
732

EW 5v; E 4N; W 3N; EW 34 ; EW 4&; EW 3¢ ;
Par -650: EW 4v +1

West North East South
Pass

1e Pass 2% Pass

2v Pass 4v All pass

West opens 1 4 and rebids their 2nd suit 2 v .
East has enough for game with 12 HCP and good distribution, so

theyraiseto 4 v.
Lead: ¢ K

Declarer can draw trumps starting with ¥ K and then lead
towards ¥ J to finesse North's ¥ Q to make an overtrick.

Board 8 4 Q3
West Deals vyAQ76
None Vul ¢ 94
*#KQ962
« 10854 N o K72
v K9 W E vJ1054
¢+ AK73 s ¢ QJ105
& 1043 & A5
« AJ96
v 832
¢ 862
)87

NS 2N; NS 2v;: NS 3&: EW 2¢ ; EW 1e;
Par +100: EW 3¢ x-1

West North East South
Pass 1 Pass le
Pass 2% All pass

With a minimum hand, North opens and rebids their #s at the
minimum level. North cannot rebid their ¥ suit because this

would push up the bidding too high. Their rebid needs to be
below "the barrier"

Lead: ¢ Q

Declarer eventually wins the ¢ continuation and draws trumps.
Subsequently they can win # and v finesses
- to make a lucky 9 tricks.
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[Event "NZB Beginner Module 7 – Opener Unbalanced Hands"]

[Site ""]

[Date ""]

[Board "1"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "None"]

[Deal "N:95.T7652.AQ76.KT 76.QJ.J932.AQ865 KT32.984.KT8.J93 AQJ84.AK3.54.742"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{With a 5-card Major suit, West opens and rebids 2\S - their suit at the lowest

level to show a minimum hand with 5 + \Ss.



Opening lead: \H2



Declarer wins the lead in dummy to lead a \S to their AQJ84 to finesse the

\SK.\n

Next try the finesse of the \CK leading to the \CQ in dummy to get the lead

across to repeat the \S finesse. Makes 9 tricks.

}

[BCFlags "1f"]

[DoubleDummyTricks "44552445529987a8987a"]

[OptimumScore "EW 400"]

[ParContract "E 3N="]

[Auction "N"]

Pass Pass Pass 1S

Pass 2C Pass 2S

AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  4

N  S  4

N  H  5

N  D  5

N  C  2

S NT  4

S  S  4

S  H  5

S  D  5

S  C  2

E NT  9

E  S  9

E  H  8

E  D  7

E  C 10

W NT  8

W  S  9

W  H  8

W  D  7

W  C 10



[Event "NZB Beginner 06 – Responders Rebids"]

[Site ""]

[Date ""]

[Board "2"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "NS"]

[Deal "E:K874.A3.98.J7542 A5.KQJT875.A2.KQ T6.964.QJT74.AT6 QJ932.2.K653.983"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{With 6 HCP North responds to the opening with 1\S. \n

After this response, South knows they have enough for game and rebids 4\H with

their single-suited hand.



Lead: \DQ, top of sequence.



Declarer wins the lead with \D A in hand to preserve dummy's only entry \DK.

Draw trumps, but when in dummy with \DK use the opportunity to lead \SQ to

finesse \SK for an overtrick.}

[BCFlags "1f"]

[DoubleDummyTricks "89b7689b762426724267"]

[OptimumScore "NS 650"]

[ParContract "NS 4H+1"]

[Auction "E"]

Pass 1H Pass 1S

Pass 4H AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  8

N  S  9

N  H 11

N  D  7

N  C  6

S NT  8

S  S  9

S  H 11

S  D  7

S  C  6

E NT  2

E  S  4

E  H  2

E  D  6

E  C  7

W NT  2

W  S  4

W  H  2

W  D  6

W  C  7



[Event "\n\n\n\n\n\nModule 7 Opener Unalanced Hands"]

[Site ""]

[Date ""]

[Board "3"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "EW"]

[Deal "S:85.QJT5.A54.T854 T3.843.KJT92.AQ7 Q62.A9762.86.963 AKJ974.K.Q73.KJ2"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{East rebids a jump 3\S to show a 16-17 hand with a 6-card suit. West now knows

there is a \S fit and enough for game, so they bid 4\S.



Lead: \HQ - top of sequence



North knows from partner's \HQ lead that Declarer has \HK, so they play their

\HA and drop the singleton \HK.\n

When Declarer gains the lead they cross to dummy with a \C to try the trump

finesse of \SQ, which works - makes 11 tricks.}

[BCFlags "1f"]

[DoubleDummyTricks "42724427247b6b87b6b8"]

[OptimumScore "EW 650"]

[ParContract "EW 4S+1"]

[Auction "S"]

Pass Pass Pass 1S

Pass 2D Pass 3S

Pass 4S AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  4

N  S  2

N  H  7

N  D  2

N  C  4

S NT  4

S  S  2

S  H  7

S  D  2

S  C  4

E NT  7

E  S 11

E  H  6

E  D 11

E  C  8

W NT  7

W  S 11

W  H  6

W  D 11

W  C  8



[Event "NZB Beginner 06 – Responders Rebids"]

[Site ""]

[Date ""]

[Board "4"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "All"]

[Deal "W:A942.K62.975.KJ9 6.AQT83.AQJ2.543 QJT8.754.T863.AQ K753.J9.K4.T8762"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{North opens their longest suit then rebids their 2nd suit 2\D. This is OK on

their minimum hand - as it's below the barrier (2\H). \n

South has a minimum response and doesn't strongly prefer \Ds, so they sign off

in 2\H.



Lead: \SQ\n

Declarer crosses to dummy with \DK to draw trumps leading \HJ & running it to

finesse the \HK. Makes 9 tricks.}

[BCFlags "1f"]

[DoubleDummyTricks "66978669784644446444"]

[OptimumScore "NS 140"]

[ParContract "NS 1H+2"]

[Auction "W"]

Pass 1H Pass 1S

Pass 2D Pass 2H

AP

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 6

N  S 6

N  H 9

N  D 7

N  C 8

S NT 6

S  S 6

S  H 9

S  D 7

S  C 8

E NT 4

E  S 6

E  H 4

E  D 4

E  C 4

W NT 4

W  S 6

W  H 4

W  D 4

W  C 4



[Event "NZB Beginner 06 – Responders Rebids"]

[Site ""]

[Date ""]

[Board "5"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "NS"]

[Deal "N:KQ6.KQ53.AKJ82.9 4.9842.Q76.QJ754 AJT93.JT6.94.T62 8752.A7.T53.AK83"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{As North has a stronger hand they can rebid their 2nd suit above the barrier

with 2\H. South is forced to bid again so they rebid their 5-card \S suit,

which is raised to 4\S by Opener - now that they know there is a suit fit in

\Ss.



West leads: \CA



Declarer should postpone drawing trumps to establish winners &/or eliminate

their \C losers before dummy's trumps are used up.



}

[BCFlags "1f"]

[DoubleDummyTricks "7b9a57b9a56243862438"]

[OptimumScore "NS 650"]

[ParContract "NS 5S="]

[Auction "N"]

1D Pass 1S Pass

2H Pass 2S Pass

4S AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  7

N  S 11

N  H  9

N  D 10

N  C  5

S NT  7

S  S 11

S  H  9

S  D 10

S  C  5

E NT  6

E  S  2

E  H  4

E  D  3

E  C  8

W NT  6

W  S  2

W  H  4

W  D  3

W  C  8



[Event "NZB Module 7 – Opener Unbalanced Hands"]

[Site ""]

[Date ""]

[Board "6"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "EW"]

[Deal "E:AK86.Q9.53.A9643 Q97.J43.K762.KT8 J543.K865.Q98.J5 T2.AT72.AJT4.Q72"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{East opens their longest suit 1\C and rebids their 2nd suit at the 1-level

with 1\S. West has a \S fit and a minimum hand so they raise to 2\S - the final

contract.



Lead: \D2



From the lead North knows South has \DK, so they can win the trick cheaply with

\D10. Once Declarer gets the lead,  they play 2 rounds of trumps, then the side

suits - makes 8 tricks.}

[BCFlags "1f"]

[DoubleDummyTricks "85896858965844658546"]

[OptimumScore "NS 120"]

[ParContract "NS 2N="]

[Auction "E"]

1C Pass 1H Pass

1S Pass 2S AP

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 8

N  S 5

N  H 8

N  D 9

N  C 6

S NT 8

S  S 5

S  H 8

S  D 9

S  C 6

E NT 5

E  S 8

E  H 4

E  D 4

E  C 6

W NT 5

W  S 8

W  H 5

W  D 4

W  C 6



[Event "NZB Module 7"]

[Site ""]

[Date ""]

[Board "7"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "All"]

[Deal "S:JT754.T5.A96.732 AK862.K842.85.KJ Q9.Q93.KQT3.T654 3.AJ76.J742.AQ98"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{West opens 1\S and rebids their 2nd suit 2\H.\n

East has enough for game with 12 HCP and good distribution, so they raise to

4\H.



Lead: \DK



Declarer can draw trumps starting with \HK and then lead towards \HJ to finesse

North's \HQ to make an overtrick.



-



}

[BCFlags "1f"]

[DoubleDummyTricks "3314333143a9b9a99b9a"]

[OptimumScore "EW 650"]

[ParContract "EW 4H+1"]

[Auction "S"]

Pass 1S Pass 2C

Pass 2H Pass 4H

AP

[OptimumResultTable "Declarer;Denomination\2R;Result\2R"]

N NT  3

N  S  3

N  H  1

N  D  4

N  C  3

S NT  3

S  S  3

S  H  1

S  D  4

S  C  3

E NT 10

E  S  9

E  H 11

E  D  9

E  C 10

W NT  9

W  S  9

W  H 11

W  D  9

W  C 10



[Event "NZB Beginner 06 – Responders Rebids"]

[Site ""]

[Date ""]

[Board "8"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "None"]

[Deal "W:T854.K9.AK73.T43 Q3.AQ76.94.KQ962 K72.JT54.QJT5.A5 AJ96.832.862.J87"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{With a minimum hand, North opens and rebids their \Cs at the minimum level.

North cannot rebid their \H suit because this would push up the bidding too

high. Their rebid needs to be below "the barrier"



Lead: \DQ



Declarer eventually wins the \D continuation and draws trumps. Subsequently

they can win \S and \H finesses \n

- to make a lucky 9 tricks.}

[BCFlags "1f"]

[DoubleDummyTricks "86859868595758457584"]

[OptimumScore "EW -100"]

[ParContract "EW 3DX-1"]

[Auction "W"]

Pass 1C Pass 1S

Pass 2C AP

[OptimumResultTable "Declarer;Denomination\2R;Result\1R"]

N NT 8

N  S 6

N  H 8

N  D 5

N  C 9

S NT 8

S  S 6

S  H 8

S  D 5

S  C 9

E NT 5

E  S 7

E  H 5

E  D 8

E  C 4

W NT 5

W  S 7

W  H 5

W  D 8

W  C 4

�

